
— 
I NS TA LL ATI ON A N D M A I NTA N A NCE I NS TRUC TI ONS

RXT5SB500

Please read these instructions 
completely before installing  
or removing device. Improper 
installation could be hazardous  
to personnel and/or equipment.

HA Z ARDOUS VOLTAGE.
WILL C AUSE SE VERE  
INJURY OR DE ATH.

Turn OFF power supplying this 
equipment before working inside.

Kit Contains

Finger-safe barriers 3

Phase barriers 100 mm 2

Terminal Port Lugs 6

Step 2

Step 3

Instruction
Installation of finger-safe barriers
1.	Turn OFF power supplying the equipment
2.	Remove the line lugs from the breakers.

	- remove set-screws to access M4 screws 
underneath

	- unfasten M4 screw
	- unfasten M10 screw

Keep all hardware
3.	Install the finger-safe barriers to the lugs

M4 Screws

M10 Screws



electrification.us.abb.com

—
ABB Inc.
305 Gregson Drive
Cary, NC 27511
United States

—
We reserve the right to make technical 
changes or modify the contents of this 
document without prior notice. With 
regard to purchase orders, the agreed 
particulars shall prevail. ABB AG does  
not accept any responsibility whatsoever 
for potential errors or possible lack of  
information in this document.

We reserve all rights in this document 
and in the subject matter and illustrations 
contained therein. Any reproduction, 
disclosure to third parties or utilization 
of its contents – in whole or in parts – 
is forbidden without prior written 
consent of ABB AG. Copyright© 2024 ABB
All rights reserved 1T

Q
C

13
30

0
0

E
0

0
23

 R
E

V 
A

 1
1.

20
24

 #
14

9
9

5

4.	Install the lugs assembly to the breaker. Use the 
hardware from step 2.
Torque M10 bolt (D) to 319 in-lbf

5.	Torque M4 screws (E) to 10 in-lbf to fasten the lug 
to vent plate. Place back the set-screws.

6.	Use the provided plugs to close any unused termi-
nal ports.

7.	Install two 100 mm phase barriers between the 
phases in 3PH application

Step 4

1

2

C, C1

D

Step 5

Step 7

E

http://electrification.us.abb.com


— 
I NS TRUCCI O N E S DE I NS TA L ACI Ó N Y M A NTEN I M I ENTO

RXT5SB500

El kit contiene

Barreras de seguridad para dedos 3

Barreras de fase de 100 mm 2

Tapones del puerto de terminales 6

Paso 2

Paso 3

Instrucciones
Instalación de barreras de seguridad para dedos
1.	Desconecte la alimentación del equipo
2.	Retire los casquillos de línea de los interruptores.

	- retire los tornillos prisioneros para acceder a los 
tornillos M4 de debajo

	- afloje el tornillo M4
	- afloje el tornillo M10

Keep all hardware
3.	Instale las barreras de seguridad para dedos en 

los casquillos.

Tornillos M4

Tornillos M10

Lea atentamente estas 
instrucciones antes de instalar 
o retirar el dispositivo. 
Una instalación incorrecta 
podría resultar peligrosa para 
el personal y el equipo.

TENSIÓN PELIGROSA . 
PROVOC AR Á LESIONES 
GR AVES O L A MUERTE.

Desconecte la alimentación eléctrica 
de este equipo antes de trabajar en 
su interior.



—
ABB Inc.
305 Gregson Drive
Cary, NC 27511
United States

electrification.us.abb.com

1.	Instale el conjunto de casquillos en el interruptor. 
Utilice los herrajes del paso 2.

2.	Apriete el perno M10 (D) a 319 pulg/lbf.
3.	Apriete los tornillos M4 (E) a 10 pulg/lbfpara fijar 

el casquillo a la placa de ventilación. Vuelva a colo-
car los tornillos prisioneros.

4.	Utilice los tapones provistos para cerrar los puer-
tos de terminales que no se utilicen.

5.	Instale dos barreras de fase de 100 mm entre las 
fases en la aplicación 3PH.

Paso 4

1

2

C, C1

D

Paso 5

Paso 7

E

—
Nos reservamos el derecho a realizar cam-
bios técnicos o modificar el contenido de 
este documento sin previo aviso. En 
cuanto a órdenes de compra, tendrán pri-
oridad los detalles acordados. ABB AG no 
se hace responsable de posibles errores o 
de falta de información en este docu-
mento.

Nos reservamos todos los derechos en 
este documento de su contenido y las ilus-
traciones que contiene. Se prohíbe toda 
reproducción, divulgación a terceros o uti-
lización del contenido (ya sea total o par-
cial) sin el previo consentimiento por es-
crito de ABB. Copyright© 2024 ABBTodos 
los derechos reservados 1T

Q
C

13
30

0
0

E
0

0
23

 R
E

V 
A

 1
1.

20
24

 #
14

9
9

5

http://electrification.us.abb.com

